General issues in the use of the article.

All scholars assume that something like the following four notions are necessary to provide a framework for investigating/describing the facts.

1. The distinction between generics/predicate NPS on the one hand and "specifics" on the other hand.  Lions eat grass.  A lion cautiously approached the watering hole.  My brother is a teacher. 
2. The distinction between definite ("identified" or "registered in discourse" or "common ground") and indefinite. 

3. The distinction between mass and count nouns.

4. The distinction between singular and plural count nouns. 

#3 and #4 fit in like this: a singular count noun with a(n) seems to function in much the same way a plural or mass nouns in bare NPs (with a "zero article"). 

How does something get to be common ground:

1. By previous mention (usually first mention with an indefinite (the article a or Ø, or unstressed some).

2. Parasitically:  I bought a car.  I want you to check the carburetor. 

3. Retroactively: The speaker uses the definite article and forces the hearer to adjust the common ground. 

A. Where did James meet Clara?

B. He met her at the reception given by the dean for new students in 2003. 

4. Present in speech situation. I wonder who brought the carrot cake?
5. Permanently part of the participants' life situation: Did you remember to feed the fish. 

Then, all scholars agree that there are "wrinkles". Cases which do not appear to be completely predicted by the general framework. These include "fixed expressions" or "idioms", like in hospital (British) or in the hospital (U.S.) Strange things with place names (Lake Erie, The Great Salt Lake;  The Mississippi River, Manoa Stream).  Or, the restriction on generic a that it doesn't normally occur with NP modified by non-restrictive relative clauses. (?A lion, which lives in Africa, lives in a group called pride.compare Lions, which live in Africa, live in groups called prides. ) There are other wrinkles, too.

The article system

•The "zero article" Ø.
This treatment assumes that there is a zero-article, used as the indefinite article with plurals and with non-count (“mass”) nouns.  In this theory,  the apple is to an apple as the milk is to Ø milk;  a man is to the man as the men is to  Ø men.(Recognizing a Ø determiner allows one to say that ALL NPs have determiners. )
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•An alternative:  some instead of Ø.
Many scholars consider unstressedsome to be the indefinite article for plurals and for non-count nouns.  In this alternative, the apple is to an apple as the milk is to some milk;  a man is to the man as the men is to some men.  This theory requires the recognition of two some's:  one (the unstressed some, pronounced sm) is an Article;  the other (stressed some) is the Quantifier.
Notes on bare NPs and unstressed some
A basic fact: the indefinite article a only occurs with singular count nouns, while the determiner the occurs with singular count nouns, with plurals, and with mass nouns.

The question arises:  If  a is the indefinite article for singular count nouns and plurals, shouldn't there also be indefinite articles which occur with plural and mass nouns? The generalization seems to be: In some respects, bare NPs (with plural or mass nouns) resemble singular count NPs with a, but in other respects plural/mass NPs with unstressed some seem to correspond best to the singular count NPs with the indefinite article.

Some terminological proposals therefore try to extend the term "indefinite article" to include bare NPs and/or NPs with unstressed some. 

One approach is simply to discuss these correspondences and leave it at that. 

I. Bare NPs  as indefinites ("zero articles")

Bare NPs, with no determiners (no articles, no demonstratives, no genitives) are often said to have a "zero article" or "zero determiner". This is commonly written with the null-set symbol: Ø

These bare NPs, which only are possible with mass nouns and plural nouns, seem in some respects to correspond (in meaning and use) to NPs with indefinite articles, which can only be used with singular count nouns. 

Thus, it is sometimes said that the indefinite article has two forms.

Indefinite article:


 used with singular count nouns   (I eat a sandwich for lunch.)


Ø used with plurals and mass nouns (I drink milk.)

II. Unstressed some as an indefinite article

NPs introduced by unstressed some (a "quantity word" or "quantifier"),  which only occurs with mass nouns and plural nouns, seem in some respects to correspond (in meaning and use) to NPs with indefinite articles, which can only be used with singular count nouns. 

Thus, it is sometimes said that the indefinite article has two forms.

Indefinite article:


 used with singular count nouns  (I eat a sandwich for lunch.)


some used with plurals and mass nouns (I drink some milk.)

Comment. Simply calling Ø or some an "indefinite article" doesn't help much, since we still have to explain how Ø and some are different.

